



St. Louis County, Minnesota

Date of Report: 5/14/2025 4:47:12 PM

**General Details** 

 Parcel ID:
 752-0010-04520

 Document:
 Abstract - 01181137

**Document Date:** 02/08/2012

Legal Description Details

Plat Name: UNORGANIZED 55-21

Section Township Range Lot Block

28 55 21 **Description:** NW 1/4 OF NW 1/4 EX 4 36/100 ACRES FOR HWY NO 73

Taxpayer Details

Taxpayer Name RUSCO HARVEY RICHARD & JULIE RAE

and Address: RUSCO JEREMIAH DAVID

1579 MATTHEW LN HIBBING MN 55746

**Owner Details** 

 Owner Name
 RUSCO HARVEY RICHARD

 Owner Name
 RUSCO JEREMIAH DAVID

 Owner Name
 RUSCO JULIE RAE

Payable 2025 Tax Summary

2025 - Net Tax \$573.00

2025 - Special Assessments \$85.00

2025 - Total Tax & Special Assessments \$658.00

Current Tax Due (as of 5/13/2025)

ı												
Due May 15		Due October 15	Total Due									
	2025 - 1st Half Tax \$329.00		2025 - 2nd Half Tax	\$329.00	2025 - 1st Half Tax Due	\$329.00						
	2025 - 1st Half Tax Paid	\$0.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$329.00						

2025 - 1st Half Due \$329.00 2025 - 2nd Half Due \$329.00 2025 - Total Due \$658.00

**Parcel Details** 

Property Address: School District: 701
Tax Increment District: Property/Homesteader: -

Assessment Details (2025 Payable 2026)										
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity			
151	0 - Non Homestead	\$22,900	\$16,600	\$39,500	\$0	\$0	-			
111	0 - Non Homestead	\$24,800	\$0	\$24,800	\$0	\$0	-			
	Total:	\$47,700	\$16,600	\$64,300	\$0	\$0	643			





St. Louis County, Minnesota

Date of Report: 5/14/2025 4:47:12 PM

			Land Det	ails		
Deeded Acres:	35.64		Lana Do			
Waterfront:	-					
Water Front Feet:	0.00					
Water Code & Desc:	-					
Gas Code & Desc:	_					
Sewer Code & Desc:	_					
Lot Width:	0.00					
Lot Depth:	0.00					
The dimensions shown are n https://apps.stlouiscountymn.	ot guaranteed to be s	urvey quality. A	dditional lot in	formation can be the are are any question	found at ns, please email PropertyTa	ax@stlouiscountymn.gov.
	<u> </u>			ails (ST 8X40)		, ,
Improvement Type	Year Built	Main Flo		ross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
STORAGE BUILDING	0	320	)	320	-	-
Segment	Story	Width	Length	Area	Foundati	on
BAS	0	8	40	320	POST ON GR	OUND
		Improver	nent 2 Det	ails (ST 8X40)		
Improvement Type	Year Built	Main Flo		ross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
STORAGE BUILDING	0	320	)	320	-	-
Segment	Story	Width	Length	Area	Foundati	on
BAS	0	8	40	320	POST ON GR	OUND
		Improver	nent 3 Det	ails (ST 8X42)	)	
Improvement Type	Year Built	Main Flo		ross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
STORAGE BUILDING	0	336	5	336	-	-
Segment	Story	Width	Length	Area	Foundati	on
BAS	0	8	42	336	POST ON GR	OUND
		Improve	ment 4 De	tails (8x52 st)		
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup> G	ross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
STORAGE BUILDING	0	416	6	416	-	-
Segment	Story	Width	Length	Area	Foundati	on
BAS	0	8	52	416	POST ON GR	OUND
		Improve	ment 5 De	tails (8x48 st)		
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup> G	ross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
STORAGE BUILDING	0	384	ļ	384	-	- -
Segment	Story	Width	Length	Area	Foundati	on
BAS	0	8	48	384	POST ON GR	OUND
		Improve	ment 6 De	tails (8x27 st)		
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup> G	ross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
STORAGE BUILDING	0	216	6	216	-	-
Segment	Story	Width	Length	Area	Foundati	on





St. Louis County, Minnesota

Date of Report: 5/14/2025 4:47:12 PM

		Improve	ement 7 Details	s (8x52 st)					
Improvement Typ	e Year Built	•		•	Basement Finish	S	tyle Co	ode & Desc.	
STORAGE BUILDING 0		41	6	416	-		•	-	
Segment Story		y Width	Length	Area	Found	ation			
BAS 0		8	52	416	POST ON (	GROUN	D		
		Improve	ement 8 Details	s (8x18 st)					
Improvement Typ	e Year Built	•		,	Basement Finish	S	tyle Co	ode & Desc.	
STORAGE BUILDIN	ORAGE BUILDING 0		144		-			-	
Segme	nt Stor	y Width	Width Length		Found	ation			
BAS	0	8	18	144	POST ON (	GROUN	D		
		Sales Reported	to the St. Lou	is County Aud	itor				
Sa	le Date		Purchase Price	<b>)</b>	CR	RV Numl	oer		
0	6/2011		\$37,000			193607			
		As	ssessment His	story					
Year	Class Code (Legend)	Land EMV	Bldg EMV	Total EMV	Def Land EMV	_	ef dg //V	Net Tax Capacity	
	151	\$22,900	\$7,600	\$30,500	\$0	\$	0	-	
2024 Payable 2025	111	\$24,800	\$0	\$24,800	\$0	\$	0	-	
,	Total	\$47,700	\$7,600	\$55,300	\$0	\$	0	553.00	
	151	\$22,900	\$7,600	\$30,500	\$0	\$	0	-	
2023 Payable 2024	111	\$24,800	\$0	\$24,800	\$0	\$	0	-	
-	Total	\$47,700	\$7,600	\$55,300	\$0	\$	0	553.00	
	151	\$19,800	\$6,400	\$26,200	\$0	\$	0	-	
2022 Payable 2023	111	\$21,600	\$0	\$21,600	\$0	\$	0	-	
	Total	\$41,400	\$6,400	\$47,800	\$0	\$	0	478.00	
	151	\$18,900	\$5,900	\$24,800	\$0	\$	0	-	
2021 Payable 2022	111	\$20,500	\$0	\$20,500	\$0	\$	0	-	
	Total	\$39,400	\$5,900	\$45,300	\$0	\$	0	453.00	
		7	ax Detail Hist	ory					
Tax Year	Total Tax & Special Special Taxable Building Tax Year Tax Assessments Assessments Taxable Land MV MV Total Taxable MV								
2024	\$561.00	\$85.00	\$646.00	\$47,700	\$7,600	)	;	\$55,300	
2023	\$523.00	\$85.00	\$608.00	\$41,400	\$6,400	\$6,400		\$47,800	
2022	\$543.00	\$85.00	\$628.00	\$39,400	\$5,900	)	\$45,300		





St. Louis County, Minnesota

Date of Report: 5/14/2025 4:47:12 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.